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1. https://medium.com/netflix-techblog/netflix-recommendations-beyond-the-5-stars-part-1-55838468f429
2. https://medium.com/netflix-techblog/learning-a-personalized-homepage-aa8ec670359a
3. https://static.googleusercontent.com/media/research.google.com/en//pubs/archive/45530.pdf
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ML Model Performance

This chart shows the distributions of your predicted answers for the actual "1” & "0" records in your evaluation data. Any overiap of the actual "1" mmm & "0" mm is
where your ML Model guesses wrong

Adjust the slider to indicate how much error you can tolerate from your ML Model based on your needs. Moving the Score Threshold to the right will decrease the
number of false positives and increase the number of false negatives

Explain this chart
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